# Formulas for solution of Riccati's Equation 

Avyt Asanov ${ }^{1}$, Elman Hazar ${ }^{2}$, Ruhidin Asanov ${ }^{3}$<br>${ }^{1}$ Kyrgyz-TurkManas University, Department of Mathematics, Bishkek, Kyrgyzstan<br>${ }^{2}$ Sakarya University, Department of Mathematics, Sakarya, Turkey<br>${ }^{3}$ Department of Applied Mathematics and Informatics, Kyrgyz state Technical University.<br>E-mail: avyt.asanov@mail.ru, ealiyev@sakarya.edu.tr, ruhidin_asanov@yahoo.com


#### Abstract

In this paper we obtained the formula for the common solution of Riccati equations. Here Riccati equations was solved for common cases. Results obtained have been compared with the conventional ones and a comment has been made on them.


Keywords: Riccati's equation,particular solution, formula for the general solutation, the common cases. AMS clasification:34A12

## 1. Introduction

We consider the equation

$$
\begin{equation*}
z^{\prime}(t)=a(t) z^{2}+b(t) z(t)+c(t), t \in I, \tag{1}
\end{equation*}
$$

where $I=\left(t_{1}, t_{2}\right), t_{1}<t_{2} a(t), b(t)$ and $c(t)$ are known continuous functions, $a(t) \neq 0$ for all $t \in I$.
Many works are dedicated to the determination of the common solutions of Riccati equations[1-6].
But in common case any formulas for the decision of Riccati's equations have not obtaned. It is well
known that any equation of the Riccati equation can always be reduced to the linear Differential equations of the second order. In [7] was obtained the formula for the general solutions of the linear Differential equation of the second order with the variable coefficients in the more common cases. In this theme the equations (1) is investigated in the more common cases.

## 2. Formula for solution of the equation (1)

Depending on the correlation between $a(t), b(t)$ and $c(t)$ formulas for the determination of the particular solution and the common solutions of this equation (1) were obtained.

Theorem. Let it be $a(t), b(t), c(t) \in C(I), a(t) \neq 0$ for all $t \in I$,

$$
\begin{align*}
& c(t)=\frac{1}{a(t)}\left(\varphi^{\prime}(t)\right)^{2} e^{\int \alpha(t) \varphi^{\prime}(t) d t} \\
& \left\{m^{\prime}(t)\left(\varphi^{\prime}(t)\right)^{-1}-m^{2}(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}+\left[-\frac{a^{\prime}(t)}{a(t)}-b(t)+\frac{\varphi^{\prime \prime}(t)}{\varphi^{\prime}(t)}\right]\left(\varphi^{\prime}(t)\right)^{-1} m(t)-\alpha(t) m(t)\right\}+ \\
& +\frac{\left(\varphi^{\prime}(t)\right)^{2}}{a(t)}\left\{\alpha^{\prime}(t)\left(\varphi^{\prime}(t)\right)^{-1}-\alpha^{2}(t)+\alpha(t)\left[-\frac{a^{\prime}(t)}{a(t)}-b(t)+\frac{\varphi^{\prime \prime}(t)}{\varphi^{\prime}(t)}\right]\left(\varphi^{\prime}(t)\right)^{-1}\right\}, t \in I, \tag{2}
\end{align*}
$$

where $\varphi^{\prime}(t)$ and $\varphi^{\prime \prime}(t)$ are the first and second derivatives of the functions $\varphi(t), a^{\prime}(t), \alpha^{\prime}(t)$ and $m^{\prime}(t)$ respectively, the derivatives of the functions $a(t), \alpha(t)$ and $m(t), m(t) \neq 0$ and $\varphi^{\prime}(t) \neq 0$ for all $t \in I$. Then the partıcular solution of the equation (1)is written as in the next form

$$
\begin{equation*}
z_{p}(t)=\frac{\varphi^{\prime}(t)}{a(t)}\left[\alpha(t)+m(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}\right], t \in I \tag{3}
\end{equation*}
$$

and the general solution of the Riccati equation (1) is given by

$$
\begin{equation*}
z(t)=z_{p}(t)+\frac{\exp \left\{2 \varphi^{\prime}(t)\left[\alpha(t)+m(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}\right]+b(t)\right\}}{C-\int a(t) \exp \left\{2 \varphi^{\prime}(t)\left[\alpha(t)+m(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}\right]+b(t)\right\} d t} \tag{4}
\end{equation*}
$$

where $t \in I, C$ is an arbitrary constant.
Proof. Differentiating (3), we obtain
$z_{p}^{\prime}(t)=\left[-\frac{a^{\prime}(t) \varphi^{\prime}(t)}{a^{2}(t)}+\frac{\varphi^{\prime \prime}(t)}{a(t)}\right]\left[\alpha(t)+m(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}\right]+\frac{\varphi^{\prime}(t)}{a(t)}\left[\alpha^{\prime}(t)+m^{\prime}(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}+\right.$
$\left.m(t) \alpha(t) \varphi^{\prime}(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}\right]$.

Hence taking into account (3), (5) and (2)we have
$z_{p}^{\prime}(t)-a(t) z_{p}^{2}(t)-b(t) z_{p}(t)=\left[-\frac{a^{\prime}(t) \varphi^{\prime}(t)}{a^{2}(t)}+\frac{\varphi^{\prime \prime}(t)}{a(t)}\right]\left[\alpha(t)+m(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}\right]+\frac{\varphi^{\prime}(t)}{a(t)}\left[\alpha^{\prime}(t)+m^{\prime}(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}+\right.$ $\left.m(t) \alpha(t) \varphi^{\prime}(t)(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}\right]-\frac{\left(\varphi^{\prime}(t)\right)^{2}}{a(t)}\left[\alpha^{2}(t)+2 \alpha(t) m(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}+m^{2}(t) e^{2 \int \alpha(t) \varphi^{\prime}(t) d t}\right]-\frac{b(t) \varphi^{\prime}(t)}{a(t)}[\alpha(t)+$ $\left.m(t) e^{\int \alpha(t) \varphi^{\prime}(t) d t}\right]=c(t), t \in I$.

Therefore, $z_{p}(t)$ will be a particular solution of the equation (1).

It is known that if one can find a particular solution $z_{p}(t)$ to the equation (1), then the general solution can be written as

$$
\begin{equation*}
z(t)=z_{p}(t)+\frac{1}{u(t)} \tag{6}
\end{equation*}
$$

where $u(t)$ is the general solution of an associated linear differential equation

$$
\begin{equation*}
u^{\prime}(t)=-\left[2 a(t) z_{p}(t)+b(t)\right] u(t)-a(t), t \in I \tag{7}
\end{equation*}
$$

Solving this equation (7) we have

$$
\begin{equation*}
u(t)=e^{-\gamma(t)}\left[C-\int e^{\gamma(t)} a(t) d t\right] \tag{8}
\end{equation*}
$$

where
$\gamma(t)=2 a(t) z_{p}(t)+b(t)=2 \varphi^{\prime}(t)\left\{\alpha(t)+m(t) \exp \left[\int \alpha(t) \varphi^{\prime}(t) d t\right]\right\}+b(t), t \in I$,
Taking into account (8) and (9) from (6), we obtain(4). Theorem has been proved.
Corollary. Let the conditions of Theorem hold. Then the function given by the formula

$$
\left.\begin{array}{rl}
z(t)=\bar{z}_{p}(t)+ & \left(z_{0}-z_{p}\left(t_{0}\right)\right) \exp \left\{2 \varphi^{\prime}(t)\left[\alpha(t)+m(t) e^{\int_{0}^{\prime} \alpha(s) \varphi^{\prime}(s) d s}\right]+b(t)\right\} \\
& \exp \left\{2 \varphi^{\prime}\left(t_{0}\right)\left[\alpha\left(t_{0}\right)+m\left(t_{0}\right)\right]+b\left(t_{0}\right)\right\}-\left(z_{0}-z_{p}\left(t_{0}\right)\right) \int_{t_{0}}^{t} a(s) \exp \left\{2 \varphi ^ { \prime } ( s ) \left[\alpha(s)+m(s) e^{f_{0}} \alpha(s) \varphi^{\prime}(s) d s\right.\right. \\
s
\end{array}+b(s)\right\} d s,
$$

is the solution of equation (1) with initial condition $z\left(t_{0}\right)=z_{0}$, where
$z_{p}(t)=\frac{\varphi^{\prime}(t)}{a(t)}\left[\alpha(t)+m(t) e^{\int_{t_{0}}^{t} \alpha(s) \varphi^{\prime}(s) d s}\right], \quad t, t_{0} \in I$.

## 3.Comparison with known results.

1. According to the given study [5](1.2.8,1) for the equation

$$
\begin{equation*}
z^{\prime}=z^{2}+f(t) z-a_{0}^{2}-a_{0} f, a_{0} \in R, \tag{10}
\end{equation*}
$$

$z_{0}(t)=a_{0}$ has been shown a particular solution. The equation (10) provides all requirements of the our theorem for

$$
a(t)=1, b(t)=f(t), c(t)=-a_{0}^{2}-a_{0} f(t), \alpha(t)=0, \varphi(t)=t, m(t)=a_{0}, \quad \text { at } t \in I
$$

Then from (3)we have $z_{p}(t)=a_{0}$.
2. $\ln [5](1.2 .8,3)$ for the equation

$$
\begin{equation*}
z^{\prime}=z^{2}+t f(t) z+f(t) \tag{11}
\end{equation*}
$$

$z_{0}(t)=-\frac{1}{t}, t \in I$ has been shown a particular solution.The equation (11) provides all requirements
of the theorem for

$$
a(t)=1, b(t)=t f(t), c(t)=f(t), \alpha(t)=0, \varphi(t)=t, m(t)=-\frac{1}{t}, \text { at } t \in I .
$$

Then from (3) we obtain $z_{p}(t)=-\frac{1}{t}, t \in I$.
3. $\ln [5](1.2 .8,12)$ for the equation

$$
\begin{equation*}
z^{\prime}=-f^{\prime}(t) z^{2}+f(t) g(t) z-g(t) \tag{12}
\end{equation*}
$$

$z_{0}=\frac{1}{f(t)}$ has been shown a particular solution. The equation (12) provides all necessary conditions of the
Theorem for

$$
\begin{aligned}
& a(t)=-f^{\prime}(t), b(t)=f(t) g(t), a(t)=0, c(t)=-g(t), \\
& m(t)=-\frac{f^{\prime}(t)}{f(t)}, \varphi(t)=t, t \in I .
\end{aligned}
$$

Then from (3)we have $z_{p}(t)=\frac{1}{f(t)}, t \in I$.
4. $\ln [5](1 \cdot 2 \cdot 8,13)$ for the equation

$$
\begin{equation*}
z^{\prime}=f^{\prime}(t) z^{2}-f(t) g(t) z-g(t) z+g^{\prime}(t) \tag{13}
\end{equation*}
$$

$z_{0}(t)=g(t) t \in I$, hasbeen shown a particular solution. The equation (13) provides all necessary conditions of the theorem for

$$
\begin{aligned}
& a(t)=f(t), b(t)=-f(t) g(t), c(t)=g^{\prime}(t), \alpha(t)=0, \varphi(t)=t, \\
& m(t)=f(t) g(t), t \in I .
\end{aligned}
$$

Then from (3) we have $z_{p}(t)=g(t), t \in I$.
5. $\ln [5](1.2 .8,14)$ for the equation

$$
\begin{equation*}
z^{\prime}(t)=g(t)(z(t)-f(t))^{2}+f^{\prime}(t) \tag{14}
\end{equation*}
$$

$z_{0}(t)=f(t) t \in I$, has been shown a particular solution. The equation (14)provides all necessary
Requirements of the theorem for
$a(t)=g(t), b(t)=-2 f(t) g(t), c(t)=f^{\prime}(t)+g(t) f^{2}(t), \alpha(t)=0, \varphi(t)=t, t \in I$
Then from (3) we have $z_{p}(t)=f(t), t \in I$.
6. $\ln [5](1.2 .8,15)$ for the equation

$$
\begin{equation*}
z^{\prime}=\frac{f^{\prime}(t)}{g(t)} z^{2}-\frac{g^{\prime}(t)}{f(t)} \tag{15}
\end{equation*}
$$

$z_{0}(t)=-\frac{g(t)}{f(t)} t \in I$, has been shown a particular solution. The equation (15) provides all necessary conditions of the theorem for

$$
a(t)=\frac{f^{\prime}(t)}{g(t)}, b(t)=0, c(t)=-\frac{g^{\prime}(t)}{f(t)}, \alpha(t)=0, m(t)=-\frac{f^{\prime}(t)}{f(t)}, t \in I .
$$

Them from (3) we have $z_{p}(t)=-\frac{g(t)}{f(t)} t \in I$.
7. $\ln [5](1.2 .8,16)$ for the equation

$$
\begin{equation*}
f^{2}(t) z^{\prime}-f^{\prime}(t) z^{2}+g(t)(z-f(t))=0 \tag{16}
\end{equation*}
$$

$z_{0}(t)=f(t), t \in I$ has been shown a particular solution. The equation (16) provides all necessary conditions of the theorem for

$$
\begin{aligned}
& a(t)=\frac{f^{\prime}(t)}{f^{2}(t)}, b(t)=-\frac{g(t)}{f^{2}(t)}, c(t)=\frac{g(t)}{f(t)}, \alpha(t)=0 \\
& \varphi(t)=t, m(t)=\frac{f^{\prime}(t)}{f(t)}, t \in I
\end{aligned}
$$

Then from (3) we obtain $z_{p}(t)=f(t), t \in I$.
8. $\ln [5](1.2 .8,17)$ for the equation

$$
\begin{equation*}
z^{\prime}=z^{2}-\frac{f^{\prime \prime}(t)}{f(t)} \tag{17}
\end{equation*}
$$

$z_{0}(t)=-\frac{f^{\prime}(t)}{f(t)}, t \in I$ has been shown a particular solution. The equation (17) provides all necessary conditions
of the theorem for

$$
\begin{aligned}
& a(t)=1, b(t)=0, c(t)=-\frac{f^{\prime \prime}(t)}{f(t)}, \alpha(t)=0 \\
& \varphi(t)=t, m(t)=-\frac{f^{\prime}(t)}{f(t)}, t \in I
\end{aligned}
$$

Then from (3) we obtain $z_{p}(t)=-\frac{f^{\prime}(t)}{f(t)}, t \in I$.
9. $\ln [5](1.2 .8,18)$ for the equation

$$
\begin{equation*}
z^{\prime}=a e^{\lambda t} z^{2}+a e^{\lambda t} f(t) z+\lambda f(t) \tag{18}
\end{equation*}
$$

$z_{0}(t)=-\frac{\lambda}{a} e^{-\lambda t}, t \in I$ has been shown a particular solution. The equation (18) provides all necessary conditions of the theorem for

$$
\begin{aligned}
& a(t)=a e^{\lambda t}, b(t)=a e^{\lambda t} f(t), c(t)=\lambda f(t), \alpha(t)=0 \\
& \varphi(t)=t, m(t)=-\lambda, t \in I
\end{aligned}
$$

Then from (3)we have $z_{p}(t)=-\frac{\lambda}{a} e^{-\lambda t}, t \in I$.
10. In [5](1.2.8.19) for the equation

$$
\begin{equation*}
z^{\prime}=f(t) z^{2}-a e^{\lambda t} f(t) z+a \lambda e^{\lambda t} \tag{19}
\end{equation*}
$$

$z_{0}(t)=a e^{\lambda t}, t \in I$ has been shown a particular solution. The equation (19) provides all necessary conditions of the theorem for

$$
\begin{aligned}
& a(t)=f(t), b(t)=-a e^{\lambda t} f(t), c(t)=a \lambda e^{\lambda t}, \alpha(t)=0, \\
& \varphi(t)=t, m(t)=a e^{\lambda t} f(t), t \in I
\end{aligned}
$$

Then from (3)we obtain $z_{p}(t)=a e^{\lambda t}, t \in I$.
11. In [5](1.2.8.11) for the equation

$$
\begin{equation*}
z^{\prime}=f(t) z^{2}-a t^{n} g(t) z+a n t^{n-1}+a^{2} t^{2 n}(g(t)-f(t)) \tag{20}
\end{equation*}
$$

$z_{0}(t)=a t^{n}$ has been shown a particular solution. The equation (20) provides all necessary conditions of the theorem for

$$
\begin{aligned}
& a(t)=f(t), b(t)=-a t^{n} g(t), c(t)=a n t^{n-1}+a^{2} t^{2 n}(g(t)-f(t)), \alpha(t)=0, \varphi(t)=t, \\
& m(t)=a e^{\lambda t} f(t), t \in I .
\end{aligned}
$$

Then from (3)we have $z_{p}(t)=a t^{n}$.
12. In $[5](1.2 .8,24)$ for the equation

$$
\begin{equation*}
z^{\prime}=f(t) z^{2}+g(t) z+a \lambda e^{\lambda t}-a e^{\lambda t} g(t)-a^{2} e^{2 \lambda t} f(t) \tag{21}
\end{equation*}
$$

$z_{0}(t)=a e^{\lambda t}$ has been shown a particular solution. The equation (21) provides all necessary conditions of the theorem for

$$
\begin{aligned}
& a(t)=f(t), b(t)=g(t), c(t)=a \lambda e^{\lambda t}-a e^{\lambda t} g(t)-a^{2} e^{2 \lambda t} f(t), \alpha(t)=0, \varphi(t)=t, \\
& m(t)=a e^{\lambda t} f(t), t \in I .
\end{aligned}
$$

Then from (3) we have $z_{p}(t)=a e^{\lambda t}$.
13. In $[5](1.2 .8,35)$ for the equation

$$
\begin{equation*}
z^{\prime}=f(t) z^{2}-(a t \ln t) f(t) z+a \ln t+a \tag{22}
\end{equation*}
$$

$z_{0}(t)=a t \ln t$ has been shown a particular solution. The equation (22) provides all necessary conditions of the theorem for

$$
\begin{aligned}
& a(t)=f(t), b(t)=f(t)(a+t \ln t), c(t)=a \ln t+a, \alpha(t)=0, \varphi(t)=t \\
& m(t)=a t(\ln t) f(t), t \in I
\end{aligned}
$$

Then from (3) we have $z_{p}(t)=a t \ln t$.
14. In [6, case2] were investigated the equation (1), when

$$
\begin{align*}
& c(t)=\frac{d}{d t}\left[\frac{-b(t) \pm \sqrt{f_{2}(t)+b^{2}(t)}}{2 a(t)}\right]-\frac{f_{2}(t)}{4 a(t)}= \\
& \frac{1}{a(t)}\left\{\frac{1}{2}\left[-b^{\prime}(t) \pm \frac{f_{2}^{\prime}(t)+2 b(t) b^{\prime}(t)}{4 \sqrt{f_{2}(t)+b^{2}(t)}}\right]-\frac{a^{\prime}(t)}{2 a(t)}[-b(t) \pm\right.  \tag{23}\\
& \left.\left.\sqrt{f_{2}(t)+b^{2}(t)}\right]-\frac{1}{4} f_{2}(t)\right\}, t \in I
\end{align*}
$$

Where $b^{\prime}(t), f_{2}^{\prime}(t), a^{\prime}(t) \in C(I), a(t) \neq 0$ for all $t \in I, f_{2}(t)+b^{2}(t)>0, t \in I$. Then the general solutions of the Riccati equation (1) were given by

$$
z(t)=\frac{e^{ \pm \int \sqrt{f_{2}(t)+b^{2}(t) d t}}}{C_{2}-\int a(t) e^{ \pm \int \sqrt{f_{2}(t)+b^{2}(t)} d t} d t}+\frac{-b(t) \pm \sqrt{f_{2}(t)+b^{2}(t)}}{2 a(t)}
$$

where $C_{2}$ is arbitrary constant.

In this case the equation (1) provides all necessary conditions of the theorem for

$$
\alpha(t)=0, \varphi(t)=t, m(t)=\frac{1}{2}\left[-b(t) \pm \sqrt{f_{2}(t)+b^{2}(t)}\right], t \in I
$$

where $c(t)$ is defined by formulas (23). Then from(3)we have
$z_{p}(t)=\frac{1}{2 a(t)}\left[-b(t) \pm \sqrt{f_{2}(t)+b^{2}(t)}\right], t \in I$.
15. In [6, case7] were investigated the equation (1), when
$c(t)=\frac{1}{a(t)}\left[\frac{1}{2} f_{4}^{\prime}(t)-\frac{1}{2} \frac{a^{\prime}(t)}{a(t)} f_{4}(t)-\frac{1}{4} f_{4}^{2}(t)-\frac{1}{2} b(t) f_{4}(t)\right], t \in I$,
where $f_{4}^{\prime}(t), a^{\prime}(t), b(t) \in C(I), a(t) \neq 0$ for all $t \in I$.
Then the general solutions of the equation (1) were given by

$$
\begin{equation*}
z(t)=\frac{e^{\int\left[b(t)+f_{4}(t)\right] d t}}{C_{1}-\int a(t) \exp \left\{\int\left[b(t)+f_{4}(t)\right] d t\right\}}+\frac{f_{4}(t)}{2 a(t)} t \in I \tag{25}
\end{equation*}
$$

where $C_{1}$ is arbitrary constant. In this case on the strength of (24), the equation (1) provides all necessary conditions of the theorem for
$\alpha(t)=0, \varphi(t)=t, m(t)=\frac{1}{2} f_{4}(t), t \in I$.
Then from (3) we obtain $z_{p}(t)=\frac{f_{4}(t)}{2 a(t)}, t \in I$.
16. In [6,case10]were investigated the equation (1), when

$$
\begin{equation*}
c(t)=\frac{b^{2}(t)-4 a^{2}(t) f_{5}^{2}(t)}{4 a(t)}+\frac{a^{\prime}(t) b(t)}{2 a^{2}(t)}-\frac{b^{\prime}(t)}{2 a(t)}+f_{5}^{\prime}(t), t \in I, \tag{26}
\end{equation*}
$$

where $a^{\prime}(t), b^{\prime}(t), f_{5}^{\prime}(t) \in C(I), a(t) \neq 0$ for all $t \in I$.
Then the general solutions of the equation (1) were given by

$$
z(t)=\frac{\exp \left\{2 \int a(t) f_{5}(t) d t\right\}}{C_{4}-\int c(t) \exp \left\{2 \int a(t) f_{5}(t) d t\right\} d t}-\frac{b(t)}{2 a(t)}+f_{5}(t), t \in I
$$

where $C_{4}$ is arbitrary constant. In this case on the strength of (26) the equation (1) provides all necessary conditions of the theorem for

$$
\alpha(t)=0, \varphi(t)=t, m(t)=-\frac{1}{2} b(t)+a(t) f_{5}(t), t \in I .
$$

Then from (3)we obtain

$$
z_{p}(t)=-\frac{b(t)}{2 a(t)}+f_{5}(t), t \in I .
$$

## 4.Conclusions

In the present paper, we have optained the integrability conditions of the Riccati Equation (1). The particular solution and the general solutions of the Riccati equations (1) is presented in the common cases and will be written in the forms (3) and (4).The possibility of the application of the obtained results is also considered.

## Competing Interests

The authors declare that they have no competing interests.

## References

1. Anas AL Bastami,MILIVOJ R.Belic,Nikola Z.Petrovic (2010).Special solutions of the Riccati Equation with Applications to the Gross-Pitaevskii Nolinear PDE,Electronic Journal of Differantial Equations,No.66,pp.1-10.
2. Boyle P.P. ,Tian W., Guan F. (2002).The Riccati Equation in Mathematical Finance, Journal Symbolic Computation,33,343-355.
3. Egorov A.I. (2001).Riccat equations.Moskow:Nauka.
4.KamkeE.(1976).Handbook of Ordinary Differential Equations.Moskow:Nauka.
5.Polyanin A.D.Zaytsev V.F.(2003).Handbook of Exact Solutions for Ordinary Differential Equations.CRC Press, Boca Raton-NewYork.
6.Tiberin Harko, Francisco S.N., Lobo, M.K.Mak.(2014).Analitical solutions of the Riccati equation with Coefficients satisfying integral or differential conditions with arbitrary functions,Journal of Applied Mathematics ,No2,pp.109-118.
7.Avyt Asanov, M. Haluk Chelik,Ruhidin Asanov.(2011).Formulas for solution of the Linear Differential Equations of the Second Order with the Variable Coefficients,Journal of Mathematics Research,vol.3., No3.pp.32-39.
